
qm=;+ sd{rf/Lsf] gfd y/ kb÷bhf{ :t/÷tx k|f=÷ck|f= z'? sfof{nodf 

k|j]z / lgo'lQm 

ldlt

:yfO{ / 

s/f/ / 

Hofnfbf/L

:yfoL lgo'lQm 

ldlt

lgo'lQm 

k|lqmof

1 >L Wofg s'df/ yfkf sfo{sf/L clws[t  /fhkqflÍt lålto ck|f=  :yfoL

2 >L l8NnL /fh cf]emf n]vf clws[t clws[t :t/ ;ftf}+ ck|f=  2053./10/1 s/f/  2056/5/1 :yfoL

3 >L lbh/fh e§ O{lGhlgo/ clws[t :t/ ;ftf}+ k|f=  2053/10/10 :yfoL  2053/10/10 :yfoL

4 >L n]vgfy cf]emf cf=n]=k=clws[t clws[t :t/ 5}7f}+ ck|f=  2068/9/6 :yfoL  2068/9/6 :yfoL

5 >L ;'/]Gb| l;+x sfsL{ k|zf;sLo clws[t clws[t :t/ 5}7f}+ ck|f=  2069/2/28 :yfoL  2069/2/28 :yfoL

6 >L k'io /fh e§ O{lGhlgo/ clws[t :t/ 5}7f}+ k|f=  2050/1/4
df=Hofnfwf/

L  2051/12/13
:yfoL

7 >L s[i0fuf]kfn e08f/L O{lGhlgo/ clws[t :t/ 5}7f}+ k|f=  2049/9/27 c:yfO{  2052/1/29 :yfoL

8 >L d]Da/ l;+x n]vfkfn ;xfos :t/ kf+rf}+ ck|f=  2050/5/1 c:yfO{  2053/7/1 :yfoL

9 >L x]d/fh e08f/L cf=n]=k= ;xfos ;xfos :t/ kf+rf}+ ck|f=  2038/4/1 c:yfO{  2038/10/27 :yfoL

10 >L dxfb]j e§ gf=;' ;xfos :t/ kf+rf}+ ck|f=  2053/7/15 :yfoL  2053/7/15 :yfoL

11 >L 6+s axfb'/ lai6 gf=;' ;xfos :t/ kf+rf}+ ck|f=  2050/5/1 c:yfO{  2053/7/1 :yfoL

12 >L bLks e08f/L gf=;' ;xfos :t/ kf+rf}+ ck|f=  2067/6/1 :yfoL  2067/6/1 :yfoL

13 >LdtL ;'zLnf kGt hf]zL pBd ljsf; pTk|]/s ;xfos :t/ kf+rf}+ ck|f=  2068/3/16 :yfoL  2068/3/16 :yfoL

14 >L s[i0f k|;fb hf]zL ljQ Joj:yfks ;xfos :t/ kf+rf}+ ck|f=  2062/4/1 s/f/  2068/3/16 :yfoL

15 >L /d]z >]i7 sDKo'6/ ck/]6/ ;xfos :t/ kf+rf}+ ck|f=  2061/9/16 s/f/  2068/2/8 :yfoL

16 >L df]xg axfb'/ v8\sf gf=;' ;xfos :t/ kf+rf}+ ck|f=  2058/5/3 :yfoL  2058/5/3 :yfoL

17 >L dx]z k|;fb bxfn vl/bf/ ;xfos :t/ rf}yf] ck|f=  2058/5/3 :yfoL  2058/5/3 :yfoL

18 >L wdf{gGb kf08]o vl/bf/ ;xfos :t/ rf}yf] ck|f=  2058/5/3 :yfoL  2058/5/3 :yfoL

19 >L s'Gbg /fgf vl/bf/ ;xfos :t/ rf}yf] ck|f=  2039/5/22 s/f/  2039/6/1 :yfoL

20 >L piff hf]zL e§ vl/bf/ ;xfos :t/ rf}yf] ck|f=  2050/5/16 c:yfO{  2053/7/1 :yfoL

21 >L l8NnL /fh hf]zL vl/bf/ ;xfos :t/ rf}yf] ck|f=  2040/2/17 Hofnfbf/L  2040/10/1 :yfoL

22 >L anb]j k|;fb kGt vl/bf/ ;xfos :t/ rf}yf] ck|f=  2040/6/10 s/f/  2041/6/12 :yfoL

23 >L xl/ k|;fb e§ vl/bf/ ;xfos :t/ rf}yf] ck|f=  2051/5/1 s/f/  2053/7/1 :yfoL

24 >L z'zLn k|;fb kf08]o vl/bf/ ;xfos :t/ rf}yf] ck|f=  2050/5/1
df=Hofnfwf/

L  2053/7/1
:yfoL

25 >L rGb|sfGt kf08]o ;xfos s= ck/]6/ ;xfos :t/ rf}yf] k|f=  2056/4/2
df=Hofnfwf/

L  2064/4/1
:yfoL

26 >L lgd{n s'df/ b]pjf  ;=cf]=;L ;xfos :t/ rf}yf] k|f=  2068/2/8 :yfoL  2068/2/8 :yfoL

27 >L s[i0f asxfb'/ zfxL cdLg ;xfos :t/ rf}yf] k|f=  2060/7/27 s/f/  2068/2/8 :yfoL

28 >L /fh]Gb| zfx cdLg ;xfos :t/ rf}yf] k|f=  2061/9/16 s/f/  2068/2/8 :yfoL

29 >L d]v/fh e§ ;d'bfo kl/rfns ;xfos :t/ rf}yf] ck|f=  2068/3/16 :yfoL  2068/3/16 :yfoL

30 >LdtL zf/bf ef6 If]qL ;d'bfo kl/rfns ;xfos :t/ rf}yf] ck|f=  2068/3/16 :yfoL  2068/3/16 :yfoL

31 >LdtL ;/:jtL wfdL hf]zL ;d'bfo kl/rfns ;xfos :t/ rf}yf] ck|f=  2068/3/16 :yfoL  2068/3/16 :yfoL

32 >LdtL /Tgf e§ c=x]=j= ;xfos :t/ rf}yf] k|f=  2058/10/14 s/f/  2064/4/1 :yfoL

33 >LdtL nIdL pkfWofo c=g=dL ;xfos :t/ rf}yf] k|f=  2060/10/1 s/f/  2068/2/8 :yfoL

wgu9L pk dxfgu/kflnsf sfof{no  

wgu9L ,s}nfnL 

wgu9L pk dxfgu/kflnsf sfof{nodf sfo{/t sd{rf/Lx?sf] ljj/0f 



34 >LdtL efu]Zj/L e§ u||f=:jf=sf= ;xfos :t/ rf}yf] k|f=  2060/11/12 s/f/  2068/2/8 :yfoL

35 >L wd{/fh bxfn O{n]lS6«l;og ;xfos :t/ rf}yf] k|f=  2052/8/3 s/f/  2053/8/1 :yfoL

36 >L dx]z k|;fb e§ O{n]lS6«l;og ;xfos :t/ rf}yf] k|f=  2067/9/20 s/f/  2068/2/8 :yfoL

37 >L s]zj axfb'/ zfxL ;=gu/ lg/LIfs ;xfos :t/ rf}yf] ck|f=  2056/5/1 :yfoL  2056/5/1 :yfoL

38 >L h+u axfb'/ sf]nL ]xjNbf/ ;xfos :t/ t]>f] ck|f=  2050/1/25 c:yfO{  2053/6/1 :yfoL

39 >L r]t/fh hf]zL gu/ k|x/L ;xfos :t/ t]>f] ck|f=  2054/8/26 c:yfO{  2056/5/1 :yfoL

40 >L d]v/fh ef6 gu/ k|x/L ;xfos :t/ t]>f] ck|f=  2056/5/1 :yfoL  2056/5/1 :yfoL

41 >L sfzL/fd cof{n x]jL ;jf/L rfns >]0fL ljlxg k|f=  2052/5/11 s/f/  2056/5/1 :yfoL

42 >L g/ axfb'/ lai6 x]jL ;jf/L rfns >]0fL ljlxg k|f=  2056/5/1 :yfoL  2056/5/1 :yfoL

43 >L lbn axfb'/ bdfO{ xn'sf ;jf/L rfns >]0fL ljlxg k|f=  2050/1/22 c:yfO{  2053/6/1 :yfoL

44 >L snz' rf}w/L xn'sf ;jf/L rfns >]0fL ljlxg k|f=  2056/12/25 s/f/  2058/5/1 :yfoL

45 >L /fdbLg /fgf x]8 dfnL >]0fL ljlxg ck|f=  2038/4/1
df=Hofnfwf/

L  2040/4/1
:yfoL

46 >L ef]h/fh e§ sfof{no ;xof]uL >]0fL ljlxg ck|f=  2050/11/23
df=Hofnfwf/

L  2053/6/1
:yfoL

47 >L 8Da/ /fh e§ sfof{no ;xof]uL >]0fL ljlxg ck|f=  2040/6/12 c:yfO{  2040/12/12 :yfoL

48 >L dfof /fd rf}w/L sfof{no ;xof]uL >]0fL ljlxg ck|f=  2044/8/9 c:yfO{  2045/2/9 :yfoL

49 >L led axfb'/ /fjt sfof{no ;xof]uL >]0fL ljlxg ck|f=  2050/1/23 c:yfO{  2053/6/1 :yfoL

50 >L /fh]Gb| s'df/ lj=s= sfof{no ;xof]uL >]0fL ljlxg ck|f=  2050/12/22
df=Hofnfwf/

L  2053/6/1
:yfoL

51 >L rf}w/L k|;fb rf}w/L sfof{no ;xof]uL >]0fL ljlxg ck|f=  2068/11/16 k'gj{xfnL  2068/11/16 :yfoL

52 >L dx]Gb| /fgf sfof{no ;xof]uL >]0fL ljlxg ck|f=  2058/11/9 s/f/  2064/4/1 :yfoL

53 >L 6]s axfb'/ sfdL sfof{no ;xof]uL >]0fL ljlxg ck|f=
s/f/

54 >LdtL /Ltf rf}w/L sfof{no ;xof]uL >]0fL ljlxg ck|f=
s/f/

55 >L a'l4/fd rf}w/L dfnL >]0fL ljlxg ck|f=  2050/1/22 c:yfO{  2053/6/1 :yfoL

56 >L ef]hnfn rf}w/L laB"t x]Nk/ >]0fL ljlxg ck|f=  2058/6/10 s/f/  2064/4/1 :yfoL

57 >L eHhL /fgf bdsn x]Nk/ >]0fL ljlxg ck|f=  2056/5/1 :yfoL  2056/5/1 :yfoL

58 >L /fd;dem /fgf :jLk/ x]Nk/ >]0fL ljlxg ck|f=  2053/5/18
df=Hofnfwf/

L  2056/5/1
:yfoL

59 >L nfn k|;fb e§ kmfo/d]g >]0fL ljlxg ck|f=  2050/4/9
df=Hofnfwf/

L  2053/6/1
:yfoL

60 >L rGb| axfb'/ kfsL{ kmfo/d]g >]0fL ljlxg ck|f=  2056/5/1 :yfoL  2056/5/1 :yfoL

61 >L ;u/fd ;fpb kmfo/d]g >]0fL ljlxg ck|f=  2051/12/1
df=Hofnfwf/

L  2053/6/1
:yfoL

62 >L efuL/fd rf}w/L s"lrsf/ >]0fL ljlxg ck|f=  2056/5/1 :yfoL  2056/5/1 :yfoL

63 >L lhtdfg rf}w/L s"lrsf/ >]0fL ljlxg ck|f=  2056/5/1 :yfoL  2056/5/1 :yfoL

64 >L bzL/fd rf}w/L s"lrsf/ >]0fL ljlxg ck|f=  2056/5/1 :yfoL  2056/5/1 :yfoL

65 >L xl/z+s/ rf}w/L s"lrsf/ >]0fL ljlxg ck|f=  2056/5/1 :yfoL  2056/5/1 :yfoL

66 >L bz/y rf}w/L s"lrsf/ >]0fL ljlxg ck|f=  2056/5/1 :yfoL  2056/5/1 :yfoL

67 >L v'zL/fd rf}w/L s"lrsf/ >]0fL ljlxg ck|f=  2067/6/11
df=Hofnfwf/

L  2064/4/1
:yfoL

68 >L /fd axfb'/ rf}w/L s"lrsf/ >]0fL ljlxg ck|f=  2056/2/5
df=Hofnfwf/

L  2064/4/1
:yfoL

69 >L /fdgfy rf}w/L s"lrsf/ >]0fL ljlxg ck|f=  2056/4/14
df=Hofnfwf/

L  2064/4/1
:yfoL

70 >L ;'Gb/ jflNdsL s"lrsf/ >]0fL ljlxg ck|f=
s/f/ 



71 >L k"/g nfn jflNdsL s"lrsf/ >]0fL ljlxg ck|f=
s/f/ 

72 >LdtL /fdj]6L jflNdsL s"lrsf/ >]0fL ljlxg ck|f=
s/f/ 

73 >LdtL /fdb]jL jflNdsL s"lrsf/ >]0fL ljlxg ck|f=
s/f/ 

74 >L /}jf/L jflNdsL s"lrsf/ >]0fL ljlxg ck|f=
s/f/ 

75 >L d's]z jflNdsL s"lrsf/ >]0fL ljlxg ck|f=
s/f/ 

76 >L /fd s'df/ jflNdsL s"lrsf/ >]0fL ljlxg ck|f=
s/f/ 

77 >L k|b]z' rf}w/L s"lrsf/ >]0fL ljlxg ck|f=
s/f/ 

78 >L /l~ht jflNdsL s"lrsf/ >]0fL ljlxg ck|f=
s/f/ 

79 >LdtL u'8\8L jflNdsL s"lrsf/ >]0fL ljlxg ck|f= 10/1/2059 s/f/ 

80 >L 5f]6]nfn jflNdsL s"lrsf/ >]0fL ljlxg ck|f=
s/f/ 

81 >L 5ljgfy  jflNdsL s"lrsf/ >]0fL ljlxg ck|f= 6/11/2060 s/f/ 

82 >L c?0f  jflNdsL s"lrsf/ >]0fL ljlxg ck|f=
s/f/ 

83 >LdtL s'GtL b]jL sf]nL s"lrsf/ >]0fL ljlxg ck|f=  2060/09/01 s/f/ 

84 ;'=>L k'ikf e08f/L xn'sf ;jf/L rfns >]0fL ljlxg ck|f=
s/f/ 

85 >LdtL jgsl;of rf}w/L s"lrsf/ >]0fL ljlxg ck|f=
Hofnfbf/L

86 >L z]/ axfb'/ rf}w/L s"lrsf/ >]0fL ljlxg ck|f=
Hofnfbf/L

:jf:Yo tkm{sf s/f/ sd{rf/Lx? 

87 >L /ljGb| a= wfg's c=x]=j= ;xfos :t/ rf}yf] k|f=  2068/2/8 s/f/

88 >L ;[hgf s'df/L l;+x c=g=dL ;xfos :t/ rf}yf] k|f=  2068/2/8 s/f/

89 lgd{nf s'df/L h};L sfof{no ;xof]uL >]0fL ljlxg k|f=  2068/2/8 s/f/

90 cg' s'df/L rf}w/L sfof{no ;xof]uL >]0fL ljlxg ck|f=  2068/4/1 8f]/ xflh/L

pdf{ ;+o'St j8f sfof{no

91 v8s l;+ rf}w/L vl/bf/ ;xfos :t/ rf}yf] ck|f= 5/21/2053 :yfoL :yfoL

92 k|sfz g]kfnL d'lvof ;xfos :t/ t]>f] ck|f= 5/28/2066 s/f/

93 lht]Gb| /fgf sf=;= >]0fL ljlxg ck|f= 6/8/2058 :yfoL 6/8/2058 :yfoL

94 r'GgLnfn rf}w/L 8«fO{e/ >]0fL ljlxg ck|f= 3/10/2064 s/f/

k"naf/L  ;+o'St j8f sfof{no

95 gGb /fh /]UdL c=;= O{lGhlgo/ ;xfos :t/ t]>f] k|f=
:yfoL :yfoL

96 ljifg s'df/ rf}w/L d'lvof ;xfos :t/ t]>f] ck|f=
:yfoL :yfoL

97 /fh]z s'df/ rf}w/L sf=;= >]0fL ljlxg ck|f=
:yfoL :yfoL

s/f/df sfo{/t sd{rf/Lx?

98 sdn/fh cf]emf clws[t :t/ 5}7f}+ k|f= 2073.8.16 s/f/

99 ljj]s vqL ;xfos :t/ kf+rf}+ k|f= 2073.8.16 s/f/

100 an axfb'/ wfdL >]0fL ljlxg k|f= 2073.8.16 s/f/

101 e/t ;'gf/ >]0fL ljlxg k|f= 2073.8.16 s/f/

102 r'nL/fd rf}w/L >]0fL ljlxg ck|f= 2073.8.16 s/f/

103 a]em'/fd rf}w/L >]0fL ljlxg ck|f= 2073.8.16 s/f/


